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1.t investments helped him make a killing in the stock market,.
A) murder someone quickly _

) make money quickly

{0} lose money quickly

- {p)plana murder Quickly

2 His speech has taken the wind out of my sails.
() made me think of the future

ade me remember my past

o
ions ineffective

© made mY words or act!
)] mazde me depressed.

3 The secretary had the information at her fingertips.

" {x)mne compatidist

{8 nol zccessible

{Cyon her typewriter
{D) rezdily 3v2 ifable

4 Onthe igswe of man_iage, sarita put her foot down,
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5. Ihe m'miatér assured e .aggitming-mmployeus that h¢ would lockmm their
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& She teeps Mowing hot and cold and theretore
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(e entiondiyrand entica)

{8) deing §o0d and bad altetnately
I deE h?end)y atone moment and unfeiendly the next
ENRAE (0 ool the situdtion downy

nobody can binftiand her for lang,

and then raking it up 6gain

7. The police fosked 2l over for him but drew a blank

{R errested him

© 3 dd not find him
U EDI oWt TR I pasen

£ The cops were on their toes throughout the day,
(i married i AR

s, 2
R \"7"1

2, 1mine of bt re0eny finandial woubles. A
1§ Improve iz talloring abilitics.
5y oot b problemms

A5 wear maooet (ioIhes

to'cut his coat according to his cloth.

‘z{x;’miﬁi’ﬁf“f(.ﬁﬁfﬁgﬁ‘ i’:ﬁd g&fjgﬁ; has an sre to gri’ndi ;
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. 12. 3 years 38% the ratic of Maya's and Shikha's age was 5:9 rag

:5. Find present age of Maya? , ' pectively, After 5 years,

this ratio woulg

{0) 53

43.1f N:388 3357, Find N.

23

- @3

“.T'(C)3

mcreased by Skm/hr, how much time would be saved? N at aspeed of 50 kmfhr. if the speéd in

{A} 5 minutes

‘
e
ALt

~ [B)15 minutes
* {C} 50 minutes

(D) 30 minutes

-15.The ratio of ages of Jaiand joy is 5:2. The sum o‘ their ag is 63. After 9 vears wﬁat \ﬁill be the ratio
of their. ages'«’ , g ) ‘

(aA)5:2
(B)2:1
©)3:2
i3

- 16. Which of the following is knowp as the Pink Clty of India?

(A)Mumbai -

- (B) Jaipur ‘ : ' -

Q) surat
{0) Panna.

17. Where was the Rallway first |ntroduced in india —
(8) Mumbaj

{b) Dehradun
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. 5, which of the following I Capital of India?
18.

¢ " A Mumbal
(8) Jalpur
X (C) surat
L (D) New Deihi

S ' 19. Independence Day of India?
() 26th january
B) 20th May

(A) vallabhbhai Patel

{8} Jawahar Lal Nehru

=0 Rajendra Prasad
(D} Rebindranath Tagore

il , Part 2 (60 Marks) - | -. |

Question No 1-15 : 2 Mark each question. Choose/Write tha corroct option.

Question No 16-20 : 10 Mark eacﬁ'qugstion(Attempt-any 3)

1. The low power factor results in
. (a)Increasedlosses -.(b) Decreased fosses  {c} No effecton losses  {d) Better generating

efficiency-

2. Unit of resistance is
3] Ampere b) Volts c) Ohm d) None

; e, ; : !
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_ Asper Ohm'slaw - ' V
P
A

a)V=IiR b)V=
' =R ons VXl d)No
ne

. AL isconverted into D¢ b
a) Dynamo  b) Motor :

©) Transformaer d) Rectifiar

5. Anelectriclamp Is marked 100 watt. |
tisw

a)0S Amp  b) 0.2 Amp orking on 200 Volt,

¢} 5.0 Amp d)1.0 Amp § The cuirrent through the lamp is
. laminated core is used to reduce

7. When resistahces are ¢
{a) Decreases (b) Increonneu'Ed In parallel,'the equivalent resista
ases (c) No change (d) May increa dnce
se or decrease

L dxstnbutton of pow
power is raised from 11 kVto 66 !'V the volt
a) 6 times'b) 1/6 times c) 36 times d) 1/36 times oltage drop would lower by

g. The kVAF rating required for im '
provmg the power f;
power factor to 0. 95 is rfactorof a toad operating at SOO KW and 0.35

a) 145 kVAr b} 500 kVAr c) 50 kVAr d) 100 kVAr

.10, The protectwe dewce to indicate the internal fault in a transformer is
{a) Thermal relay (b) Bucholz relay (c) OVR (d)EFR

11 -Which'of the following does not change in a transformer?
g Currentb. Voltage ¢. Freguency d. All of the above

12. unit of energy is |
a) Kilo volt hours b]‘Kiio-wat_t_-'hours ¢ Kiio watt - dj tome

" 13, The woltage 2Cross the rnrcult breaker pole after final current zero Is

?) Restriking voltage . b) Supply voltage c) Recovery voltage d) None
14, Which of thermal prbtecxicn switch is provlded in power line system 10 protect aga%mt
a) Over voltage b) Short circuit €) Temperature rise - d) Qverload

15. Basic quantity mc.af’umd ina dtstance relayis

3) Impedance b} Current d.ﬁerenﬁ: <} Vulmge difference d) None:
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16. Write Short note on current transformer and potentlal transformer. Explain difference between

CT and PT.

17. la) Define Resistance?.What are the varlous factors affecting resistance of a conductor? (b).Two
wires one of copper and other of iron, are of the same length and same radius Which will have

more resistance? Give reason,

18. Define working principie and construétion of Induction Motor. Draw torque speed curve.

19. Write Short Note on following: a)Ohm’s law b).Faraday'’s law of electromagnetrc Induction

c)Semrconductors d)Lenz s Law

20. Explain what is a transformer with circuit diagram . Explarn its prmcrple, various types ,uses and

protection used for transformer.
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